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HHT 3397 :
Rl (31 1 dga ITET] & 95T SR 37 G TE & 9Ierd B :

(1)

(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)

(x1)

(xii)

J37-97 g YT 7 [yifaa @97 7 8 — 9T % vd ymr @ | 39 9H-97 F
32 Y77 & | @4t 397 SiHard &

T & Gy gha & forw sfaard 2 1

YT @ H 3 faheq 130 7T F (1) fadig faaron &7 favavar a9 (2) syl
FGTHT | 397 120 7T fasbed # @ 3779 fad? Uk f39eT & T & IR 17T |
FIT fahed & Jo71 F I IREY 34 & §3@ IH-Jasl | 97 15T 7T
farereq &7 Jfiva 375997 foflaw |

o7 G&IT 1 @ 13 797 23 @ 29 % 3lad TY-IHIT FHR & Jo7 &, T o7
1 3% FHE

97 G&IT 14 37K 30 T TY-IF1 YBR-] @ F97 &, I F97 3 371 H7 3 |

Y97 G&T 15 @ 18 9T 31 G-3RI FHRI] 3 I97 8, I Jo7 4 3H] #1 & |

J97 &7 19, 20 77 32 FH-F0F JF] 3 978, I3 97 6 37h] #1 & |
97 g7 21 37K 22 35 -FRIT JHIEI] F Fo7 5, Ioddb J97 8 37l #1 3 |
I Hierw a9 [65aR &1+ =T | ] 977 -% a4 Jo41 & IR T &1 €I |
for@ s =iieT |

¥ GHY [dheq T&1 81 BIcTlleh d4-d17 311 Jich 2 o1 4, IR-aR 3l arct
2 Il 4, o-9: 3H G 1 T 7 3K SB8-3713 37! dici 2 o4 7 3Rk
fae 1397 797 & | 379! W& Yol § et Uk & [dheq T I AT 8 [

3T ARE, HEATTHAFAR, IH UFT AR Jo7 @ GIT STTT-3HT JeId

143 15T 1T & 1

WA &
(STATHRTH WITST, WTHSH wHT AT BT o T Sarena)

afg agedl & ISt @ T §, @ S sew w1 o few wmma # feem
SITQT ?

W, AR qen i wmeer off qem 2:2:1 % gUd H @ atedt off |
1 3, 2019 ¥ 384 9IS & @9 7:5:3 & UM H Sled w1 o
forn | 3= fafer =t 39 feafa foemor 4 foagmea 3=t @mar < 45,000 =1 A9 <
@ ot | fasmee et @ra i Uit o sffgd s & fow v, ae qen Hiw
% St @rdt < ST 9 H @t ht S areft Uit e gt

(A) T 18,000, T 18,000 dm T 9,000

(B) ¥ 15,000, ¥ 15,000 941 ¥ 15,000

(C) T 21,000, T 15,000 d«1 T 9,000

(D) T 22,500, T 22,500 qAT A
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viit)
(ix)
(x)
(xt)

(xii)

This question paper comprises two Parts — A and B. There are
32 questions in the question paper. All questions are compulsory.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements and
(2) Computerized Accounting. You have to attempt only one of the given
options.

Heading of the option opted must be written on the Answer-Book before
attempting the questions of that particular OPTION.

Question nos. 1 to 13 and 23 to 29 are very short answer type questions
carrying 1 mark each.

Question nos. 14 and 30 are short answer type-I questions carrying
3 marks each.

Question nos. 15 to 18 and 31 are short answer type-II questions carrying
4 marks each.

Question nos. 19, 20 and 32 -are long answer type-I questions carrying
6 marks each.

Question nos. 21.and 22 are long answer type-Il questions carrying
8 marks each.

Answers should be brief and to the point. The answer of each part should
be written at one place.

There is no overall choice. However, an internal choice has been provided
in 2 questions of three marks, 2 questions of four marks, 1 question of six
marks and 2 questions of eight marks. You have to attempt only one of the
choices in such questions.

However, separate instructions are given with each part and question,
wherever necessary.

PART A

(Accounting for Not-for-Profit Organizations, Partnership Firms and Companies)

1.

2.

67/1/1 Previous Rathshala P.T.O.

In case the partners’ capitals are fixed, in which account will withdrawal
of capital be recorded ?

Meera, Myra and Neera were partners sharing profits in the ratio of
2 :2:1. They decided to share future profits in the ratio of 7 : 5 : 3 with
effect from 15¢ April, 2019. Their Balance Sheet as on that date showed a
balance of ¥ 45,000 in Advertisement Suspense Account. The amount to
be debited respectively to the capital accounts of Meera, Myra and Neera
for writing off the amount in Advertisement Suspense Account will be :
(A) < 18,000, ¥ 18,000 and T 9,000

(B) < 15,000, ¥ 15,000 and ¥ 15,000

(C) T 21,000, T 15,000 and T 9,000

(D) T 22,500, T 22,500 and Nil

1

1



AT qAT EHT T BH 6l HreigR off 991 3 : 2% I § oy wredt off | 44
ﬁw‘%mﬁlém%mmﬁmW|m%W o % feufd
WﬁWHﬁIﬁW?32ooowﬁq@ﬁww|Waﬁ1ﬁw
T T 40,000 Futfa foran T | T= @ T & ife i @i

(A) YA @Td & ST 987 | <l @t |

(B) UHeATh @I & A U&t § shi @t |

(C) YU |TEIERI < YSfi @rdl o w1 et | shi A |

(D) YU TSR & Yt @il o A ug H <l S |

fean, fem qen foam wmgier off 9um 2:3 5 % U § eu-g afedt off |

28 FaFeR, 2019 ! T i §g BI.T% | ATH 5 IHh W i feam qen fan 3
US| 98 wd 9 fezm o &y 1 9w B |

TF YT ATE Teh BH & TR I q1 7 3% WA B 19 dfed 9 | A Hl
@t %%m%mm&mwsﬁmﬁ%%wﬁamﬁﬂa’rﬁ@m
foRa | TE e 9T ST AN SIUTd 1. I |

T UHl Hg 1 AW FqsC S8 W Td YTAE @ % JTaE gd | et off
T & AT, T 3T U oFF WId % A9 U1 H g S B |

%, @ qYAT 7T Ush BH & AR I GAT 5 : 3 : 2% 3TUTT H SA-FIH dfed & | 71
q STFRTS TRV TohAT AT TS, TehiAd CTHI/ETHA 9 JHeaTh T 38 W
o FHEISH o q99Td 38 Yol @I &1 I T 2,50,000 o1 | TAI(G | 386 9T
I Affd e T 1 T 3,22,000 BT PIAE 63T T | T % FTHT TG0
T T 3Gk S @Id & 91 9§ H Tt S aret @t i iR gef

(A) T 72,000

(B) 17,200
(C) T 24,000
(D) ¥ 36,000
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Mona and Tina were partners in a firm sharing profits in the ratio of
3 : 2. Naina was admitted with %th share in the profits of the firm. At
the time of admission, Workmen’s Compensation Reserve appeared in the
Balance Sheet of the firm at T 32,000. The claim on account of workmen’s
compensation was determined at ¥ 40,000. Excess of claim over the
reserve will be :

(A)  Credited to Revaluation Account.

(B)  Debited to Revaluation Account.

(C)  Credited to old partner’s Capital Account.

(D)  Debited to old partner’s Capital Account.

Diya, Riya and Tiya were partners sharing profits and losses in the ratio
of 2 : 3 : 5. Tiya died on ogth November, 2019. Her share of profit was
taken equally by Diya and Riya. Diya’s share of profit in the new firm
will be

X and Y were partners in a firm sharing profits in the ratio of 7 : 3. Z was
admitted for %th share in'the profits which he took 75% from X and

remaining from Y. Calculate the sacrificing ratio of X and Y.

Name an item that is never shown on the payment side of Receipts and
Payments Account, but is shown on the debit side of the Income and
Expenditure Account.

A, B and C were partners in a firm sharing profits and losses in the ratio
of 5: 3 : 2. C retired and his capital balance after adjustments regarding
reserves, accumulated profits/losses and his share of gain on revaluation
was ¥ 2,50,000. C was paid ¥ 3,22,000 including his share of goodwill.
The amount credited to C’s capital account, on his retirement, for goodwill
will be :

(A) T 72,000
(B) ¥ 7,200

(C) T 24,000
(D) ¥ 36,000
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8.  Tgd, Hiigd a1 SAfd Ueh HH o HISQR & TAT 4:3: 2 o IM § ATH-FIH
Fied 4 | 15 ITaH, 2017 HI TgA hH1 9 & T8 | 30 79 a4 THESHl 6
9T Hilge T Siad hl IRET AT T 3,56,000 TAT T 2,44,000 off | =Me]
QT GicTeht HIiga qel SAfed = 3191 IS @t 70 1w fawTsH 31dTd o TR
UG i o1 Foi forn | arfeat den Sfaq 6t 78 gfomi <h ToHT hifT |

9.  FF YT LR Th BH & AHGR 9 TAT 2 : 1 I H A9 Sied o | 7 I B
T T T HEER % €9 § YA fom W | T oy fouTeE U 3:3: 2 91 |
T o ©f o W qe S gSht o for e wfeatat @

-
ENIET] 2,00,000
Ty 1,20,000
wih 80,000
TG 50,000
Ife 3geht Ioft T .3,80,000 A ot ST, df B <hl_wA;Td B

(A) ¥ 70,000

(B) < 2,80,000
(C) T 4,50,000
(D) ¥ 1,40,000

10. U, Higd dAT Ggd Gk 3 qo7 o sUs-aUst Sied o | geie BH
e & oma, g grir ®H 1 ST MY KT T G

(A) U & Sht @rd o 1 9 § A1 AT |
(B) IHch @Id & 19 qer H < A1t |

(C) ogelt @Wd & 7 g H i S |

(D) S @Td o ST U&T | <6l At |

11. T U9 o 3Aehd Hod W I8k AT oI I ST HEAT B |

12. f= & @ ®H-a1 weq Gfea o & awafa 787 1
(A) 9% T HFOH! hl AT ISit 1 | 7 |
(B)  SEh IUAN hEql o Siia-ehldd U g1 fopam ST Hehal 2 |
(C)  SHhT ITANT IS BIHAT <l TR i o AT feram ST dehell 7 |
(D) % firgd YSft 1 WM @ |
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8. Rahul, Sahil and Jatin were partners in a firm sharing profits and losses
in the ratio of 4 : 3 : 2. Rahul died on 15 October, 2017. At that time, the
capitals of Sahil and Jatin after all the adjustments were ¥ 3,56,000 and
T 2,44,000 respectively. Sahil and Jatin decided to adjust their capital
according to their new profit sharing ratio by opening current accounts.
Calculate the new capitals of Sahil and Jatin.

9. Sun and Star were partners in a firm sharing profits in the ratio of 2 : 1.
Moon was admitted as a new partner in the firm. New profit sharing
ratio was 3 : 3 : 2. Moon brought the following assets towards his share of
goodwill and his capital :

(A)
(B)
(®)
(D)

=
Machinery 2,00,000
Furniture 1,20,000
Stock 80,000
Cash 50,000
If his capital is considered as ¥ 3,80,000, the goodwill of the firm will be :
< 70,000
< 2,80,000
< 4,50,000
< 1,40,000

10. Rohan, Mohan and Sohan were partners sharing profits equally. At the
time of dissolution of the partnership firm, Rohan’s loan to the firm will

be :

(A)
(B)
()
(D)

11. Excess of issue price of a debenture over its face value is called __

12. Which of the following statements does not relate to ‘Reserve Capital’ :

(A)

(B)

()
D
6711

Credited to Rohan’s Capital Account.
Debited to Realisation Account.
Credited to Realisation Account.
Credited to Bank Account.

It is part of uncalled capital of a company.
It cannot be used during the lifetime of a company.
It can be used for writing off capital losses.

It is part of subscribed capital.
Previous Pathshala
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13. UH frHl Tt He 1 T FasU NEHT TUAHTRE Tk "Eieil BH & faued &
Y FHEl @Td < ST 9§ TR ST 7, T 3ok [TT oI G A &l

fema S | 1
14. TH WdAhe a9 o o foawon i ¥R i 993 (0 7 o1 oi@n s fora
ST ? 3
frer <

geER Y 44,000

g ffy e w = 6,000

fu U gEhR 46,000

9 =™ 64,000

NS EIERECH) 44,000

Tt

T gTe Yo § Hrafed e e 881 Wi, 2019 i GHIE U 9N 6
T 3y a5 @i H el S, died] a8 ok ol SUMIT <hl TS earsdl shl Uiy

EIRINEI ﬁ'ﬁrm : 3
i >
1.4.2018 1 SATSAT ol F2ih 60,000
1.4.2018 ! TATEAT o T-ER 40,000
31.3.2019 I ATl T Tl 10,000
31.3.2019 ! ATl & GR 25,000
31.3.2019 ! gaTeat & fog 1fim 22,000
¥ o S qaTSl T IUR Y 2,76,000
¥ o S gaTSl T TG HA 46,500

15. T, HET a7 AigT HEGR 9 G712 :1: 13 IJ9d § @Y Sied & | TH A
T HIE T 3,000 T IME fohAT qAT HigA 7 Yeish W8 T 4,000 H1 IR0
e | TR0 W 6% aTiieh @ W AT AT TRT, Selfeh HEie Joig | 3Te
T TS o AT g ITaem= &1 o |
319 S 1 T T 7Y A A Ylg 6 T e qamsy gfafe fifg | 4

HAYAT
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13. Name an item which is transferred to credit side of Realisation Account
at the time of dissolution of partnership firm, but does not involve cash

payment.

14. How would the following items be treated while preparing the financial

statements of a sports club ?

Particulars Amount

=
Prize Fund 44,000
Interest on Prize Fund Investments 6,000
Prizes Awarded 46,000
Match Expenses 64,000
Prize Fund Investments 44,000

OR

From the following information of a charitable dispensary, calculate the
amount of medicines consumed during the yearthat would appear in the

Income and Expenditure Account for the year ending 315' March, 2019 :

Particulars Amount
=

Stock of medicines on 1.4.2018 60,000
Creditors for medicines 1.4.2018 40,000
Stock of medicines 31.3.2019 10,000
Creditors for medicines 31.3.2019 25,000
Advances for medicines 31.3.2019 22,000
Credit purchases of medicines during the year 2,76,000
Cash purchases of medicines during the year 46,500

15. Ram, Mohan and Sohan were partners sharing profits in the ratio of
2 :1: 1. Ram withdrew ¥ 3,000 every month and Mohan withdrew
T 4,000 every month. Interest on drawings @ 6% p.a. was charged,
whereas the partnership deed was silent about interest on drawings.
Showing your working clearly, pass the necessary adjustment entry to

rectify the error.
OR

67/1/1 Previous ljathshala
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16.

17.

¥g, fag dom Ty U HH & WIEER A qAT 4:3:3 % U H AW died o |
1 Ta, 2018 I 3ITeh! TR ¢St AR T 9,00,000, T 5,00,000 TAT
T 4,00,000 off | 1 FgFR, 2018 I IG 7 BH B T 80,000 K HOT AT |
TSGR Ted o STTEN :

()  FTEERl Y W 6% dTi¥eh o & <A 7 o |

(i) ETSIEN o SATE T 8% dTNeh & & SIS <hIHT T |

I 2018 — 19 % GRF ®H 7 T 2,53,000 T ATH (I o U T AT o IT)
Affa frar | o W wEER % A AR AG ;T 80,000,
fag : T 70,000 T WY : T 50,000 ot |

31 AT, 2019 ! TATH gY ¥ % foig Aw-g fafaiism @mar dam iy |

BUehT, TIHY QAT Shd Ueh H oh TSGR ¥ 991 3: 2 : 1% 34 § 1Y Sied
q | % T a9 31 W I AW WA g€ H-A | 31 SeATS, 2019 I qTH
H1 g & TS | 3T faTeh Rl e T o

(i)  3"HI St T 8,00,000 qAT EAT(A H FHBT HE | BH HI T R
oA 296,000 fehsm =1 |

(i) TSGR 9d o ATAR A H I§ehl vrr fweht uHT fUse 3 ot %
3T9d @9 < SATYR T S| f@e 3 ant &1 3fi|a @ T 78,000
o |

(ili) 3Gh! T & GHF THHI % HSIIGehR! i = §RI T 95,000 HT YA

ToRa TRIT AT W ST TR 35k {5dTeeh o 0T @Id § L e i |
THT hl G W HH hl YWl § IUYTH oSl o [T SAavEsh TstrHEn
wfafsat i |

Tfa werEed fafits T 100 &% & awar 3w # fawe T 85,00,000 i deft
T Tofiehd off | EOT T 45,000 M o6 T o faw oteed smmf=E fRu |
T@Tﬁﬂwﬁﬁ%ﬁ:

e W — T 25, AW W — T 35, IIH IJraT W — T 25 997 31faq I=m=n
Wy TR |

42,000 30 6 feTQ 3T TTH §T qA1 EH SATgehi ol 30 1 3ATeed L e
T | Wfd, S8 3,300 7910 1 @A TR T o1, EI AT T YA
T § TR & | Ieh 3T okl BT h foram T |

T AT, 2013 W1 AT 111 o TTAR HF hl 3791 YSft 1 HFHT
feyfa foewor 4 yefdfa $ifse |
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Yadu, Vidu and Radhu were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. Their fixed capitals on 15t April, 2018 were ¥ 9,00,000,

T 5,00,000 and ¥ 4,00,000 respectively. On 15t November, 2018, Yadu
gave a loan of ¥ 80,000 to the firm. As per the partnership agreement :

1) The partners were entitled to an interest on capital @ 6% p.a.

(i1)  Interest on partners’ drawings was to be charged @ 8% p.a.

The firm earned profits of ¥ 2,563,000 (after interest on Yadu’s loan)
during the year 2018 — 19. Partners’ drawings for the year amounted to
Yadu : ¥ 80,000, Vidu : ¥ 70,000 and Radhu : ¥ 50,000.

Prepare Profit and Loss Appropriation Account for the year ending
315 March, 2019. 4

16. Furkan, Tanmay and Barkat were partners in a firm sharing profits in
the ratio of 3 : 2 : 1. The firm closes its books on 315 March every year.

Tanmay died on 315t J uly, 2019. His executor was entitled to :

(1) His capital ¥ 8,00,000 and his share of goodwill which was valued
for the firm at ¥ 96,000.

(i1)  His share of profit as per partnership agreement, which was to be

calculated on the basis of average profit of last 3 years. Average
profits of the last 3 years were ¥ 78,000.

(iii) Tanmay’s executors were paid ¥ 95,000 by cheque at the time of
his death and-the balance was transferred to his executor’s loan
account.
Pass the necessary journal entries in the books of the firm, on Tanmay’s
death, for the above transactions. 4

17. Raunit Styles Ltd. was registered with a capital of ¥ 85,00,000 divided
into equity shares of ¥ 100 each. The company invited applications for
issuing 45,000 shares.

The amount was payable as ¥ 25 on application, ¥ 35 on allotment, ¥ 25
on first call and balance on final call.

Applications were received for 42,000 shares and allotment was made to
all the applicants. Kavi, to whom 3,300 shares were alloted, failed to pay

both the calls. His shares were forfeited.
Present the Share Capital in the Balance Sheet of the company as per
Schedule III of the Companies Act, 2013. 4
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18. faftm uferaftal (The 1 ®igR) qo1 aT&l ¥Aiedl i agell @id H
TMANG i o T9ETq <1 aon U1 <l AreigRt ®H o faeed W = ol
& foTu stravaes UsHm=n gl i

(i) T 6,000 S TH Il & U fuem & faw = 2,000 6 = Afcfaa
REFIRT @M T 3,000 T 1 YA Rl T |

(i) ¥ 10 Y o 100 M I, WEIERT 7 3 : 2% U T fI9TSH UTd
H T 20 Uit 379 o IER IoF W o fom= |

(iii) ¥ 40,000 F TH THER 7 YO HUH W T 30,000 & Tih Hl 30%
¥ W o foram |

(iv) ¥ 4,000 % g AT T ggd UL Dl HET A1 | TN T 39 A R
YTAH i 7 B i Tehg I 3T fomal |

19. 31 HrE, 2019 HI-HAH Y a8 % ¢ Slaefsl & (Hefafad ot v yrae
QT q«1 Al a1 | 31 A€, 2019 I G919 Y a4 % [0 3T @ =A™

LCIGIRGRIRY @ﬁﬂ :
31 W=, 2019 i TATH T AW o fo1g S Feta o1 T TS W= @rat
. T - T
T T
3y Fi=2 @ 2,000 | Ia 42,500
ECARE fafen qon ek 21,500
2017 - 18 1,200 Hi=R (1.10.2018) 15,000
2018 -19 49,200 9% et 3,000
2019 -20 2,300 52,700 | 9% F= & MU 16,850
U HefeR 1 fosha 500
(J&dk eI T 800)
qEhRT & T g 43,000
s = = 650
98,850 98,850
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=
18. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Tony and Rony after the various
assets (other than cash) and external liabilities have been transferred to
Realization Account :
1) An unrecorded asset of ¥ 2,000 and cash ¥ 3,000 was paid for
liability of ¥ 6,000 in full settlement.
(i) 100 shares of ¥ 10 each have been taken over by partners at
market value of ¥ 20 per share in their profit sharing ratio, which
is3: 2.
(iii)  Stock of T 30,000 was taken over by a creditor of ¥ 40,000 at a
discount of 30% in full settlement.
(iv)  Expenses of realisation ¥ 4,000, were to be borne by Rony. Rony
used the firm’s cash for paying these expenses. 4

19. From the following Receipts and Payments Account of Dee Club for the
year ending 315t March, 2019 and additional -information, prepare an
Income and Expenditure Aecount for the year ending 315t March, 2019 :

Receipts and Payments Account of Dee Club for the year ending

315t March, 2019
Receipts Am;unt Payments Am;unt
To Balance b/d 2,000 | By Salaries 42,500
To Subscription : By Brlntlng and 21,500
Stationery
2017-18 1,200 By Furniture (1.10.2018) | 15,000
2018 -19 49,200 By 9% Investments 3,000
2019-20 2,300 | 59 700 | By Balance c/d 16,850
To Sale of old furniture 500
(Book value ¥ 800)
To Donation for prizes 43,000
To Interest on Investment 650
98,850 98,850
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20.

(1)
(i1)

(iii)

(iv)

(i)

(ii)

FAS h 400 TG ¥, TAh HGHI T 150 TNk =g hl T Ll o |
PTa fhU MU ad # 9 2017 - 18 % 9w T 3,150 affiferd & qen
a9 2018 — 19 T 31T IaT T 4,250 T |

30 awR, 2018 I 9% Faw foham w1 | a9 &% YEY § FoIe o U gt
TR & T 8,000 o fawr 9 |

BTl W 10% aTfYeh X § Jeag™ gy | fashar fohr o weffer W =18
oIS &l T @ |

a7s fafiee 3 3.ueg. fafiee i f= afwwafat 0 s foean -
T 60,00,000 hT Y AT Ha Sl T 84,00,000 H; T 40,00,000  TIF
T A0 T T 36,00,000 |
%I Yfdha T 1,10,00,000 oM | 3.0, fafies & 981 § T 20,00,000
&1 Teh {03 0 ThR Sieh a2 I8 &1 T 100 Tdh & 8% UG
HI 20% o HferEm g8 FEIfT s aE fomm @ |
arg fftee il gedent 8 ST Gl oh fTT ST UsHTH=T Siafsaf
T |
S ffids 9 T 100 T&F & 2,00,000, 8% OGS 1 AT 6% & =g
W fRAT | 3T RO SR SNEE 5 9N UvETd. 10% Siftem w R S
o | TR 1 YA e JhR | 37 o1 -

AEH W — T 50 Ufd 19T qen

AEA W — I
S foifies &1 gEael § kOl o fmE o fofe stmavees U
yfafsar i |

AT

7w fafiee 3 T 100 9% % 20,000, 10% kU9l &0 fwma e |
31 4T, 2019 1 8,000, 10% ROTYST oh1 SMeH < o1 | 31 9, 2018 o
HEA S U KUY IEd H=F @ H T 4,40,000 %1 Y AT |
1 379, 2018 bl HEHT = ROT9 e e § fewes Uiy o1 fHew fomm |
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1) The club has 400 members, each paying an annual subscription of
T 150.

(i1)  Salaries paid included < 3,150 for the year 2017 -18 and
outstanding salaries for the year 2018 — 19 were ¥ 4,250.

(iii) 9% investments were made on 30" November, 2018. The club had
a similar investment of ¥ 8,000 at the beginning of the year.

(iv)  Depreciate furniture @ 10% p.a. No depreciation is charged on the
furniture sold. 6

20. () Vayee Ltd. purchased the following assets of E.X. Ltd. :

Land and Building of ¥ 60,00,000 at ¥ 84,00,000; Plant and
Machinery of ¥ 40,00,000 at £ 36,00,000.

The purchase consideration was ¥ 1,10,00,000. Payment was made
by accepting. a Bill of Exchange in favour of E.X. Ltd. of
¥ 20,00,000 and remaining by issue of 8% debentures of ¥ 100
each at a premium of 20%.

Record the necessary journal entries for the above transactions in
the books of Vayee Ltd.

(i1) Zed Ltd. issued 2,00,000, 8% debentures of T 100 each at a
discount of 6% redeemable at a premium of 10% after 5 years. The
amount was payable as follows :

On application — ¥ 50 per debenture and
On allotment — balance
Record the necessary journal entries for the issue of debentures in
the books of Zed Ltd. 3+3
OR

Mahesh Ltd. had issued 20,000, 10% debentures of ¥ 100 each.
8,000, 10% debentures were due for redemption on 315t March, 2019. The
company had a balance of ¥ 4,40,000 in the Debenture Redemption
Reserve Account on 315t March, 2018. The company invested the required
amount in the Debenture Redemption Investment on 15t April, 2018.

Pass the necessary journal entries for redemption of debentures. Ignore

the entries for interest on debentures. 6
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=
21. Badal and Bijli were partners in a firm sharing profits in the ratio of

3 : 2. Their Balance Sheet as at 315t March, 2019 was as follows :

Balance Sheet of Badal and Bijli as at 315t March, 2019
Liabilities AMOUDY | 5 sets Amount
Capitals : Building 1,50,000

Badal 1,50,000 Investments 73,000

Bijli 90,000 | 5 40,000 | Stock 43,000
Badal’s Current A/c 12,000 | Debtors 20,000
{{nvestment Fluctuation 24,000.| Cash 92.000
eserve
Bills Payable 8,000 | Bijli’s Current A/c 2,000
Creditors 26,000
3,10,000 3,10,000

Raina was admitted on the above date as a new partner for Lt share in

the profits of the firm. The terms of agreement were as follows :

1) Raina will bring ¥ 40,000 as her capital and capitals of Badal and
Bijli will be adjusted on the basis of Raina’s capital by opening
current accounts.

(i1))  Raina will bring her share of goodwill premium for ¥ 12,000 in
cash.

(iii) The building was overvalued by ¥ 15,000 and stock by ¥ 3,000.

(iv) A provision of 10% was to be created on debtors for bad debts.

Prepare the Revaluation Account and Current and Capital Accounts of

Badal, Bijli and Raina. 8

OR
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Prem, Kumar and Aarti were partners sharing profits in the ratio of
5 : 3 : 2. Their Balance Sheet as at 315t March, 2019 was as under :

Balance Sheet of Prem, Kumar and Aarti as at 315t March, 2019

Liabilities AmOunt | A\ qsets Amount
Capitals : Building 25,000
Prem 30,000 Plant and Machinery 15,000
Kumar 20,000 Investment 10,000
Aarti 20,000 70,000 | Debtors 10,000
General Reserve 8,000. | Stock 5,000
gle‘;eeiizlent Fluctuation 2,000 | Cash 95,000

Sundry Creditors 10,000
90,000 90,000

On the above date, Kumar retired. The terms of retirement were :
1) Kumar sold his share of goodwill to Prem for ¥ 8,000 and to Aarti
for T 4,000.

(ii))  Stock was found to be undervalued by ¥ 1,000 and building by
T 7,000.

(i11)) Investments were sold for ¥ 11,000.
(iv) There was an unrecorded creditor of ¥ 7,000.

(v)  An amount of ¥ 30,000 was paid to Kumar in cash which was
contributed by Prem and Aarti in the ratio of 2 : 1. The balance
amount of Kumar was settled by accepting a Bill of Exchange in
favour of Kumar.

Prepare the Revaluation Account, Capital Accounts of partners and the

Balance Sheet of the reconstituted firm. 8
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22. (1) R.P. Ltd. forfeited 1,500 shares of Rahim of ¥ 10 each issued at a
premium of ¥ 3 per share for non-payment of allotment and first
call money. Rahim had applied for 3,000 shares. On these shares,

amount was payable as follows :

On application — < 3 per share
On allotment (including premium) — < 5 per share
On first call — < 3 per share
On final call — Balance

Final call has not been called up. 1,000 of the forfeited shares were
reissued for ¥ 8,500 as fully paid-up.
Record the necessary journal entries for the above transactions in
the books of R.P. Litd.

(i1)) Max Ltd. forfeited 500 shares of ¥ 100 .each for non-payment of
first call of .20 per share and final call of ¥ 25 per share. 250 of
these shares were re-issued at ¥ 50 per share fully paid-up.

Pass the necessary journal entries in the books of Max Ltd. for
forfeiture and re-issue of shares. Also prepare the Share Forfeiture

Account. 4+4
OR

Karur Ltd. invited applications for issuing 2,40,000 equity shares of ¥ 10
each at a premium of 4 per share. The amount was payable as under :

On application — T 4 per share (including premium < 2)
On allotment — T 4 per share

On first and final call - ¥ 6 per share (including premium < 2)
Applications for 3,00,000 shares were received and pro-rata allotment
was made to all the applicants. Excess application money received on
application was adjusted towards sums due on allotment. All calls were
made and were duly received except from Rohini, who failed to pay
allotment and first and final call on 7,500 shares applied by her. These
shares were forfeited. Afterwards, 40% of the forfeited shares were
re-issued at ¥ 11 per share as fully paid-up.

Pass the necessary journal entries in the books of Karur Ltd. Open
call-in-arrears and call-in-advance accounts wherever necessary. 8
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23.

24.

25.

26.

217.

28.

29.

=
PART B
OPTION 1
(Analysis of Financial Statements)
State any one limitation of Financial Statement Analysis. 1
State the impact of ‘Bills Receivable discounted dishonoured on due date’
on the liquid ratio of 0-75 : 1. Also give reason in support of your answer. 1
State whether the following statement is true or false. 1
‘Inventory Turnover Ratio measures the level of financial leverage.’
The total debtors of X Ltd. were ¥ 9,00,000. It had created a provision of
10% for bad and doubtful debts. What amount of debtors will be used for
calculating the “Trade Receivables Turnover Ratio’ ? 1
Give an example of an activity which is always financing with regards to
the Cash Flow Statement. 1
On 1.10.2018, Micro Ltd. issued 20,000, 8% debentures of ¥ 100 each and
paid interest of ¥ 80,000 on these debentures on 315t March, 2019.
Calculate the cash flow from financing activities for the period ending
315t March, 2019. 1
An investment normally qualifies as cash-equivalent only when from the
date of acquisition it has a short maturity period of : 1
(A)  One month or less
(B) Three months or less
(C)  Three months or more
(D)  One year or less
Previous Pathshala PT.O.
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30. Calculate the ‘Total Assets to Debt Ratio’ from the following information: 3

3T
Current Assets 11,00,000
Working Capital 6,50,000
Shareholder’s Fund 7,50,000
Total Debt 19,50,000
Reserves and Surplus 2,50,000

OR

Under which major head/sub-head will the following items be presented
in the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 ? 3

(1) Computer software

(ii)  Calls-in-advance

(iii) Outstanding salary

(iv)  Securities Premium Reserve
(v)  Patents

(vi) Interest accrued on/Investment

31. From the following information, prepare Comparative Statement of Profit

and Loss : 4
. 31.3.2018 31.3.2019
Particulars
< <

Revenue from operations 4,00,000 3,00,000

Other Income 80,000 40,000
Expenses — 50% of Revenue from

operations

Income Tax Rate 40% 40%

OR
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Prepare a common size Balance Sheet of L.X. Ltd. from the following

information :
Note | 31.3.2019 31.3.2018
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds 20,00,000 10,00,000
2. | Non-Current Liabilities 20,00,000 5,00,000
3. | Current Liabilities 10,00,000 5,00,000
Total 50,00,000 20,00,000
II - Assets :
1. | Non-Current Assets 30,00,000 12,50,000
2. | Current Assets 20,00,000 7,50,000
Total 50,00,000 20,00,000
32. () From the following information of Nova Ltd., calculate the cash
flow from investing activities :
. 31.3.2019 31.3.2018
Particulars
< <
Machinery (At cost) 5,00,000 3,00,000
Accumulated Depreciation on machinery 1,00,000 80,000
Goodwill 1,50,000 1,00,000
Land 70,000 1,00,000
Additional Information :
During the year, a machine costing ¥ 50,000 on which the accumulated
depreciation was ¥ 35,000, was sold for ¥ 12,000.
(ii)  The profit of Jova Ltd. for the year ended 315' March, 2019 after
appropriation was ¥ 2,50,000.
Additional Information :
S.No. | Particulars Am;unt
1. | Depreciation of Machinery 20,000
2. Goodwill written off 9,000
3. | Loss on sale of Furniture 2,000
4. | Transfer to General Reserve 22,500
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. 31.3.2018 31.3.2019
Particulars
< <
Income Received in Advance 8,000 —
Inventory 12,000 8,000
Calculate the Cash flow from operating activities. 3+3
PART B
OPTION 2
(Computerised Accounting)
23. When the accumulated data from various sourees is processed in one shot
it is called : 1
(A)  Real Time Processing
(B) Data Validation
(C)  Processing and Revalidation
(D) Batch Processing
24. Height of a person is a attribute whereas academic
qualification can be attribute. 1
25. Name the accounting subsystem which deals with recording of different
items purchased and issued specifying the price, quantity and data. 1
(A)  Purchase and Accounts Payable subsystem
(B)  Expense Accounting subsystem
(C) Inventory subsystem
(D)  Costing subsystem
26. Match the movement of mouse with the keystrokes : 1
) One cell up (a) Down arrow key () or Enter
(i1))  One cell right (b)  Up arrow key (T)
(c) Left arrow key (<)
(d)  Right arrow key (—)
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27.

28.

29.

30.

31.

32.

(A) (1) (c) and (i) (a)
(B) (@) (b) and (ii) (d)
(C) () (a)and (i) (d)
(D) @) (b) and (i) (¢)

A query is used to extract aggregate of data items for a group

of records rather than a detailed set of records.

A ##### error appears when :
(A) A negative data is used.
(B)  Column is not wide enough.

(C) Negative time is used.
(D)  All of the above

The existence of data in a primary key field is:
(A)  Not necessarily required.

(B)  Required but need not be unique.

(C)  Required and must be unique.

(D)  All of the above

Write and explain the formula to calculate ‘Dearness Allowance’ and
‘Gross Salary’.

OR
Explain ‘Contra voucher’ and ‘Receipt voucher’.

State any four limitations of a computerised accounting system.

OR
What is meant by ‘data validation’ ? Give two examples when the cell will

give error if the values are not meeting the conditions.

Name the error which appears on the screen of your computer while
using Excel, when the formula refers to a deleted cell. Also explain how to
correct that error.
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